
⑩ (5x5x + 2y2y)(3x3x − y)

= 15x15x15x2 − 5xy5xy5xy + 6xy6xy6xy − 2y2y2

= 15x15x15x2 + xyxy − 2y2y2

⑨ (a + 2b2b)(2a2a + 5b5b)

= 2a2a2 + 5ab5ab5ab + 4ab4ab4ab + 10b10b10b2

= 2a2a2 + 9ab9ab9ab + 10b10b10b2

⑧ (x − 8)(x + 5)

= x2 + 5x5x − 8x8x − 4040

= x2 − 3x3x − 4040

⑦ (a + 7)(a − 4)

= a2 − 4a4a + 7a7a − 2828

= a2 + 3a3a − 2828

⑥ (x + 3)(y − 7)

= acac + adad + bcbc + bdbd

⑤ (a − 5)(b − 3)

= abab − 3a3a − 5b5b + 1515

④ (x − 7)(y + 5)

= xyxy + 5x5x − 7y7y − 3535

③ (x + 2)(y + 3)

= xyxy + 3x3x + 2y2y + 6

② (a + b)(c − d)

= acac − adad + bcbc − bdbd

① (a + b)(c + d)

= acac + adad + bcbc + bdbd
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⑩ (7x7x + 3y3y)(2x2x − 3y3y)

= 14x14x14x2 − 21xy21xy21xy21xy + 6xy6xy6xy − 9y9y2

= 14x14x14x2 − 15xy15xy15xy15xy − 9y9y2

⑨ (2a2a + b)(3a3a + 4b4b)

= 6a6a2 + 8ab8ab8ab + 3ab3ab3ab + 4b4b2

= 6a6a2 + 11ab11ab11ab11ab + 4b4b2

⑧ (x − 7)(x + 2)

= x2 + 2x2x − 7x7x − 1414

= x2 − 5x5x − 1414

⑦ (a − 4)(a − 3)

= a2 − 3a3a − 4a4a + 1212

= a2 − 7a7a + 1212

⑥ (x + 8)(y − 3)

= abab − 3a3a − 5b5b + 1515

⑤ (a + 4)(b − 6)

= abab − 3a3a − 5b5b + 1515

④ (x − 2)(y + 3)

= xyxy + 3x3x − 2y2y − 6

③ (x + 4)(y + 9)

= xyxy + 9x9x + 4y4y + 3636

② (a − b)(c − d)

= acac − adad − bcbc + bdbd

① (a − b)(c + d)

= acac + adad − bcbc − bdbd
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